
  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Business Administration 

Second Year 

BUSINESS COMMUNICATION 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Define Communication. 

 uPÁÀ öuõhºø£ Áøμ¯ÖUP. 

2. What is meant by Sales Letter? 

 ÂØ£øÚU Piu® Gß£uß ö£õ¸Ò ¯õx? 

3. Write a note on Collection Letter. 

 ÷\P›¨¦ Piu® £ØÔ SÔ¨¦ GÊxP. 

 UG–C–2189 BBA–21X



 UG–C–2189 2

4. What is Press Report? 

 £zv›øP AÔUøP GßÓõÀ GßÚ? 

5. State the meaning of E-mail. 

 ªßÚg\¼ß ö£õ¸øÍ¨ £ØÔ TÖP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. State the objective of Communication. 

 uPÁÀ öuõhº¤ß ÷|õUPzøu¨ £ØÔ TÖP. 

7. Draft a circular letter Intimating exciting Prizes 
for every Purchase of Samsung Mobile Phone. 

 \õ®\[ ö©õø£À L÷£õÛß JÆöÁõ¸ 
Áõ[Su¾US® EØ\õP‰mk® £›_ £ØÔ¯ J¸ 
_ØÓ›UøPU Piuzøu GÊxP. 

8. Explain the various types of insurance 
correspondence. 

 £À÷ÁÖ ÁøP¯õÚ Põ¨¥mkU Piu[PøÍ ÂÍUSP. 

9. What are the steps in report writing? 

 AÔUøP GÊxÁvÀ EÒÍ £iPÒ ¯õøÁ? 

10. List out disadvantages of Tele conferencing. 

 öh¼ Põß£μß][Qß wø©PøÍ Á›ø\¨£kzxP. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 
11. Enumerate the various methods of 

communication. 
 £À÷ÁÖ uPÁÀöuõhº¦ •øÓPøÍ ÂÁ›UP. 

12. Write a sales letter to promote the sales of the 
Home Appliance. 

 Ãmk E£÷¯õP¨ ö£õ¸mPÎß ÂØ£øÚø¯ 
FUSÂUP ÂØ£øÚU Piu® GÊxP. 

13. Draft a letter renewing an Fire Insurance Policy. 
 wUPõ¨¥mk¨ £õ¼]ø¯ ¦x¨¤¨£uØPõÚ Piuzøu 

GÊxP. 

14. Classify the characteristics of press report. 
 £zv›øP AÔUøP°ß £s¦PøÍ ÁøP¨£kzxP. 

15. Elaborate the important contents of annual report. 
 Á¸hõ¢vμ AÔUøP°ß •UQ¯ EÒÍhUP[PøÍ 

Â›ÁõPU TÖP. 

16. Describe the advantages and disadvantages of E-
mail. 

 ªßÚg\¼ß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ 
ÂÁ›UP. 

17. Explain the superiors’ modern means of 
communication. 

 ÷©»vPõ›PÎß |ÃÚ öuõhº¦ ÁÈ•øÓPøÍ 
ÂÍUSP. 

——––––––––– 



  

 

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Business Administration/Computer 
Application/Marketing Management 

Second Year 

MANAGERIAL ECONOMICS 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

1. What is demand curve? 

 ÷uøÁ ÁøÍÄ GßÓõÀ GßÚ? 

2. What are the factors of production? 

 EØ£zvU PõμoPÒ ¯õøÁ? 

3. Explain the term Marginal Revenue. 

 CÖv{ø» Á¸Áõ´ GßÓ £uzøu ÂÍUSP. 

 UG–C–2190 BBA–22X/
  BBAC–22X/
  BBAM–22X
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4. What are the characteristics of Oligopoly? 

 ]À÷»õº •ØÖ›ø©°ß £s¦PÒ ¯õøÁ? 

5. Define Business Cycle. 

 ÁºzuP _ÇØ] Áøμ¯Ö. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

6. Bring out the scope of Managerial Economics. 

 ÷©»õsø©¨ ö£õ¸Î¯¼ß GÀø»ø¯U TÖP. 

7. State the limitations of the law of diminishing 
returns. 

 SøÓ¢x ö\À Á¸Áõ´ Âv°ß SøÓ£õkPøÍ 
TÖP. 

8. Explain the relationship between average revenue 
and marginal revenue curves. 

 \μõ\› Á¸Áõ´ ÷PõmiØS®, CÖv{ø» Á¸Áõ´ 
÷PõmiØS® EÒÍ öuõhº¤øÚ ÂÍUSP. 

9. Distinguish between monopoly and perfect 
market. 

 HP÷£õP® ©ØÖ® {øÓÄ \¢øuø¯ ÷ÁÖ£kzxP. 

10. Briefly explain different phases of business cycle. 

 ÁºzuP _ÇØ]°ß £À÷ÁÖ Pmh[PøÍ _¸UP©õP 
ÂÍUSP. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

11. Discuss the concepts of Managerial Economics. 

 ÷©»õsø© ö£õ¸Íõuõμzvß P¸zxUPøÍ 
ÂÁõvUP. 

12. Describe the characteristics of Production 
function. 

 EØ£zv ö\¯À£õmiß £s¦PøÍ ÂÁ›UP. 

13. What are the advantages and limitations of 
Break-even analysis? 

 \©{ø» £S¨£õ´Ä/C»õ£ |mh©ØÓ {ø»¨¦ÒÎ 
B´Âß |ßø©PÒ ©ØÖ® SøÓ£õkPÒ ¯õøÁ? 

14. Explain the factors determine pricing under 
monopolistic competition. 

 HP÷£õP •ØÖ›ø© ÷£õmi `Ì{ø»°À Âø»ø¯ 
wº©õÛUPU Ti¯ PõμoPøÍ ÂÍUSP. 

15. Describe the various methods of measuring 
national income. How is a method chosen for 
measuring national income? 

 ÷u]¯ Á¸Áõø¯U PnUQk® •øÓPøÍ ÂÁ›.  
GÆÂu® ]Ó¢u •øÓ¯õÚx 
÷uº¢öukUP¨£kQÓx? 
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16. Explain the factors determinants of Supply. 

 AÎ¨¤øÚ wº©õÛUPU Ti¯ PõμoPøÍ 
ÂÍUSP. 

17. Analyze the features of Monopoly. 

 HP÷£õPzvß A®\[PøÍ £S¨£õ´Ä ö\´P. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Business Administration 

Second Year 

QUANTITATIVE METHODS 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words 

All questions carry equal marks.  

1. What is linear programming? 

 ÷|›¯À {μ»õUP® GßÓõÀ GßÚ? 

2. Define transportation model. 

 ÷£õUSÁμzx ©õv›ø¯ Áøμ¯Ö. 

3. State the meaning of queuing system. 

 Á›ø\ Aø©¨¤ß ö£õ¸øÍU TÖ. 

4. What is network analysis? 

 Áø»¯ø©¨¦¨ £S¨£õ´Ä GßÓõÀ GßÚ? 

5. Write a note on saddle point? 

 ÷\hÀ £õ°sm £ØÔ SÔ¨¦ ÁøμP. 
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. Enumerate the nature of operations research. 
 ö\¯À B´Â¯¼ß £s¦PøÍ ÂÁ›. 

7. Solve the following transportation problem. 

 Destination – 

1 2 3 4 availability

21 16 25 13 11 

17 18 14 23 13 

32 27 18 41 19 

6 10 12 15 43 

 RÌUPõq® ÷£õUSÁμzx PnUQß wºøÁU PõsP. 

C»US –  

1 2 3 4 C¸¨¦ 

21 16 25 13 11 

17 18 14 23 13 

32 27 18 41 19 

6 10 12 15 43 

8. Enumerate the types of queuing system 
 Á›ø\ •øÓ°ß ÁøPPøÍ ÂÁ›. 
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9. A project has the following time schedule : 
Activity Time in  

months 
Activity Time in 

months
1–2 2 4–6 3 
1–3 2 5–6 1 
1–4 1 6–9 5 
2–5 4 7–8 4 
3–6 8 8–5 3 
3–7 5 – – 

 (a) Construct the network 

(b) Find the total float for each activity 

 (c) Find the critical path and the project 
duration 

 J¸ ö\¯À vmhzvß Põ» AmhÁøn°ß 
¤ßÁ¸©õÖ : 
ö\¯À Põ»® 

©õu[PÎÀ 
ö\¯À Põ»® 

©õu[PÎÀ 

1–2 2 4–6 3 
1–3 2 5–6 1 
1–4 1 6–9 5 
2–5 4 7–8 4 
3–6 8 8–5 3 
3–7 5 – – 

 (A) Áø» Aø©¨ø£ E¸ÁõUSP. 

(B) ö\¯À£õmiØPõÚ ö©õzu ªuøÁø¯U 
PshÔP. 

 (C) •UQ¯©õÚ £õøu ©ØÖ® vmhzvß Põ» 
AÍøÁU PshÔP. 
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10. Find the ranges of values of p and q which will 
render the entry (2,2) a saddle point for the game. 

    Player B

 2 4 5  

 10 7 q  

Player A 4 p 6  

 (2,2) GßÓ ¦ÒÎø¯ ÂøÍ¯õmiØPõÚ ÷\n® 
¦ÒÎ¯õP ©õØÖ® p ©ØÖ® q Cß ©v¨¤ß 
Áμ®ø£U PshÔP.  

    Ãμº B 

 2 4 5  

 10 7 q  

Ãμº A 4 p 6  

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. Solve by simplex technique the problem 

 Maximize zyxG 4610: ++  

Subject to  

 

0,,
300622
6005410

,100

≥
≤++
≤++

≤++

zyx
zyx
zyx

zyx
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 ]®¨ÍUì •øÓ°À wºÄ PõsP. 

 ªøP¨£kzxP zyxG 4610: ++  

 Pmk¨£õkPÒ  

 

0,,
300622
6005410

,100

≥
≤++
≤++

≤++

zyx
zyx
zyx

zyx

 

12. Maximize, 21 45 xxz +=  

Subject to  

 

0,

32

12

21

21

11

≥
≥+
≤−

xx
xx
xx

 

 Use graphical method. 

 ªøP¨£kzxP 21 45 xxz +=  

 Pmk¨£õkPÒ  

 

0,

32

12

21

21

11

≥
≥+
≤−

xx
xx
xx

 

 Áøμ¨£h •øÓ°À wºÄ PõsP. 

13. Enumerate the various types of transportation 
model. 

 £À÷ÁÖ ÁøP¯õÚ ÷£õUSÁμzx ©õv›PøÍ 
ÂÁ›. 
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14. Solve the minimal assignment problem whose 
effective matrix is 

 1 2 3 4

I 2 3 4 5

II 4 5 6 7

III 7 8 9 8

IV 3 5 8 4

 ¤ßÁ¸® ÷©m›Uêß Ai¨£øh°À SøÓ¢u£m\ 
JxURmka ]UPø»z wºUP. 

 1 2 3 4

I 2 3 4 5

II 4 5 6 7

III 7 8 9 8

IV 3 5 8 4

15. Elaborate the characteristics of queuing system. 

Á›ø\ Aø©¨¦ •øÓ°ß £s¦PøÍ ÂÁ›UP. 

16. The following table list the jobs of network with 
time estimates. 
Job Optimistic Most likely 

Duration days
Pessimistic

1–2 3 6 15 
1–6 2 5 14 
2–3 6 12 13 
2–4 2 5 8 
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3–5 5 11 17 
4–5 3 6 15 
6–7 3 9 24 
5–8 1 4 7 
7–8 4 – 28 

 Draw the project network and calculate the length 
and variance of the critical path. 

 J¸ ö\¯À vmhzvß £oPÒ ©ØÖ® ÷uõμõ¯ Põ»® 

¤ßÁ¸©õÖ :  

£o |ßÚ®¤UøP 

AqS•øÓ 

÷uõμõ¯  

|õmPÒ 

AÁ|®¤UøP

AqS•øÓ 

1–2 3 6 15 

1–6 2 5 14 

2–3 6 12 13 

2–4 2 5 8 

3–5 5 11 17 

4–5 3 6 15 

6–7 3 9 24 

5–8 1 4 7 

7–8 4 – 28 

 vmh Áø»¯ø©¨¤ß Áøμ¨£h® Áøμ¢x •UQ¯¨ 

£õøu°ß }Í® ©ØÖ® ©õÖ£mhÍøÁU PõsP. 
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17. Reduce the following game by dominance property 
and solve it. 

 I II III IV Player B

 3 2 4 0  

 3 4 2 4  

Player A 4 2 4 0  

 0 4 0 8  

 ¤ßÁ¸® ÂøÍ¯õmøh BvUP¨ £s¦ 
Ai¨£øh°À «a]ÔuõUQ wºÄ PõsP. 

 I II III IV Ãμº B

 3 2 4 0  

 3 4 2 4  

Ãμº A 4 2 4 0  

 0 4 0 8  

 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION — 
DECEMBER 2023 

Second Year 

FINANCIAL MANAGEMENT  

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 

100 words. 

All questions carry equal marks. 

1. Define Finance Management. 

 {v {ºÁõPzøu Áøμ¯ÖUPÄ®. 

2. What is Financial Leverage? 

 {v A¢{¯ ö\»Áõo GßÓõÀ GßÚ? 

3. Write a note on capital structure. 

 ‰»uÚ Aø©¨¦ £ØÔ J¸ SÔ¨ø£ GÊxP. 

 UG–C–2192 BBA–24X



 UG–C–2192 2

4. State the meaning of capital budgeting. 

 ‰»uÚ ÁμÄ ö\»Äz vmhzvß ö£õ¸øÍU 

SÔ¨¤kP. 

5. Write the formula working capital. 

 |øh•øÓ ‰»uÚ `zvμzøu GÊxP. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 

200 words. 

All questions carry equal marks. 

6. State the objective of financial management. 

 {v ÷©»õsø©°ß SÔU÷PõÒPøÍ SÔ¨¤kP. 

7. The market price of a share is Rs.140 and a 

company plans to pay a dividend of Rs.9 per share. 

The growth in dividends is estimated at the rate of 

10%. Find out the cost of equity capital. 

 J¸ £[Qß \¢øu Âø» ¹.140 ©ØÖ® J¸ 

£[SUS ¹.9 DÄzöuõøP ÁÇ[P J¸ {ÖÁÚ® 
vmhªmkÒÍx. DÄzöuõøP°ß ÁÍºa] 10% 
ÃuzvÀ ©v¨¤h¨£mkÒÍx. £[S ‰»uÚzvß 
ö\»øÁU PshÔP. 
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8. The following information relates to Vignesh Ltd. 

Earnings per share Rs.9; Internal rate of return 

18%; Cost of Capital 12%; Payout ratio 

33.33%.Compute the market price under the 

Walter’s model. 

 ¤ßÁ¸® uPÁÀ ÂU÷Úè ¼ªöhm öuõhº£õÚx. 

J¸ £[Qß Á¸Áõ´ ¹.9; EÒ Á¸Áõ´ ÂQu® 
18%; ‰»uÚ ö\»Ä 12%; ö\¾zxuÀ ÂQu® 
33.33%. GÛÀ ÁõÀhº •øÓ°À \¢øu Âø»ø¯ 
PnUQkP. 

9. An investment proposal is expected to result in an 

average annual income of Rs.8,00,000 after 

depreciation and tax. If the investment needed is 

Rs.40,00,000; initially, compute the ARR on 

original investment. 

 J¸ •u½mkz vmh® ÷u´©õÚ® ©ØÖ® Á›US¨ 
¤ÓS \μõ\›¯õP Bsk Á¸©õÚ® ¹.8,00,000 GÚ 

Gvº£õºUP¨£kQÓx. ÷uøÁ¯õÚ •u½k 
¹.40,00,000 GßÓõÀ; Bμ®£zvÀ, A\À •u½miÀ 

ARR IU PnUQkP. 

10. Write a short notes on (a) Cash Budgeting  

(b) Receivable Management. 

 (A) öμõUP ÁμÄ ö\»Äz vmh® (B) ö£ÓzuUP 
÷©»õsø© £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Explain the role of Finance Management. 

 {v ÷©»õsø©°ß £[øP ÂÍUSP. 

12. Briefly explain the profit maximisation and wealth 
maximisation. 

 C»õ£® AvP›¨£x ©ØÖ® ö\ÀÁ® ö£¸USÁx 
£ØÔ _¸UP©õP ÂÍUSP. 

13. The operations and cost data of ABC Ltd. are as 
follows: 

  Sales 40,000 units at Rs.10 per unit. 
  Variable cost at Rs.7.50 per unit. 
 Fixed cost Rs.80,000 (including 15% interest 

Rs.2,00,000) 
  Calculate the operating, financial and combined 

leverage. 

   ABC Ltd. Cß ö\¯À£õkPÒ ©ØÖ® ö\»Äz uμÄ 
¤ßÁ¸©õÖ: 

  J¸ A»S ¹.10US 40,000 A»SPÒ ÂØ£øÚ 
ö\´¯¨£kQÓx. 

  J¸ A»SUS ¹.7.50US ©õÔ ö\»Ä. 

 {ø»¯õÚ ö\»Ä ¹.80,000 (15% Ámi ¹.2,00,000 
Em£h) ö\¯À£õmk, {v ©ØÖ® J¸[Qøn¢u 
•u½møhU PnUQkP. 
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14. The following data is available for a company: 

  The earnings per share (E) = Rs.8 

  Rate of return on investments = 16% 

  Return expected by shareholders = 12% 

  Find price of the share according to Gordon’s 

model when dividend payout ratio is 25%  

and 50%. 

 J¸ {ÖÁÚzvß ¤ßÁ¸® uμÄ QøhUQÓx: 

 J¸ £[Qß Á¸Áõ´ (E) = ¹.8 

  •u½kPÎß Á¸Áõ´ ÂQu® = 16% 

  £[SuõμºPÍõÀ Gvº£õºUP¨£k® Á¸Áõ´ = 12%  

  DÄzöuõøP ö\¾zxuÀ ÂQu® 25% ©ØÖ® 50%BP 

C¸US®÷£õx ÷PõºhÛß ©õv›°ß£i £[Qß 

Âø»ø¯U PshÔP. 

15. Elaborate the factors affecting capital structure.  

  ‰»uÚ Pmhø©¨ø£ £õvUS® PõμoPøÍ 

ÂÁ›UP. 

16. Enumerate the determinates of working capital. 

 |øh•øÓ ‰»uÚzvß wº©õÚ[PøÍ PnUQkP. 



 UG–C–2192 6

17. Peerless Ltd., is engaged in customer retailing. 
You are required to forecast their working capital 
requirement form the following information: 

  Projected annual sales Rs.6,50,000 
 Percentages of net profit to cost of sales 25% 
 Averages credit allowed to debtors 10 weeks 
 Averages credit allowed to creditors 4 weeks 
 Average stock carrying (in terms of sales 

requirement) 8weeks. 
  Add 20% to allow for contingencies. 

  Peerless Ltd., ÁõiUøP¯õÍº ]À»øÓ 
ÂØ£øÚ°À Dk£mkÒÍx. ¤ßÁ¸® uPÁ¼ß £i 
AÁºPÎß ö\¯À£õmk ‰»uÚz ÷uøÁø¯ }[PÒ 
PoUP ÷Ásk®: 

  vmhªh¨£mh Bsk ÂØ£øÚ ¹.6,50,000 

 {Pμ »õ£zvß \uÃu® ©ØÖ® ÂØ£øÚ ö\»Ä 25% 

  PhÚõÎPÐUS 10 Áõμ[PÒ AÝ©vUP¨£k® 
\μõ\› Phß 

  PhÚÎ¨£ÁºPÐUS 4 Áõμ[PÒ AÝ©vUP¨£k® 
\μõ\› Phß 

  \μõ\›¯õP øP°¸¨¦ (ÂØ£øÚ ÷uøÁ°ß 
Ai¨£øh°À) 8 Áõμ[PÒ 

  uØö\¯ÀPøÍ AÝ©vUP 20% ÷\ºUPÄ®. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Business Administration 

Second Year 

MARKETING MANAGEMENT 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words 

All questions carry equal marks.  

1. What is meant by Marketing Management? 
 \¢øu¨£kzuÀ ÷©»õsø© GßÓõÀ GßÚ? 

2. Define Buyer Behaviour. 
 Áõ[S£Á›ß |hzøuø¯ Áøμ¯Ö. 

3. Write a note on product. 
 u¯õ›¨¦ £ØÔ¯ SÔ¨ø£ GÊx[PÒ. 

4. State the meaning of Pricing. 
 Âø» {ºn¯® Gß£uß ö£õ¸øÍU SÔ¨¤hÄ®. 

5. Define Advertising. 
 ÂÍ®£μzøu Áøμ¯ÖUPÄ®. 

 UG–C–2193 BBA–25X
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. State the concept of Marketing. 

 \¢øu¨£kzuÀ Gß£vß P¸zøuU TÖ[PÒ. 

7. Explain the various stages of buying decision 
process. 

 Áõ[S® •iöÁkUS® ö\¯À•øÓ°ß £À÷ÁÖ 
{ø»PøÍ ÂÍUS[PÒ. 

8. Write short notes on (a) Packaging (b) Industrial 
goods 

 (A) Pmk©® (B) öuõÈÀxøÓ ö£õ¸mPÒ £ØÔ¯ 
]Ö SÔ¨¦PøÍ GÊuÄ®. 

9. Elaborate the function of Wholesaler. 

 ö©õzu ÂØ£øÚ¯õÍ›ß ö\¯À£õmøh 
ÂÁ›UPÄ®. 

10. Discuss the different types of Personal Selling. 

 uÛ£mh ÂØ£øÚ°ß £À÷ÁÖ ÁøPPøÍ 
ÂÁõvUP. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions  
in 500 words. 

All questions carry equal marks. 

11. State the important functions of marketing. 
 \¢øu¨£kzu¼ß •UQ¯ ö\¯À£õkPøÍU 

SÔ¨¤hÄ®. 

12. Enumerate the factors influencing buyer 
Behaviour. 

 Áõ[S£Á›ß |hzøuø¯ £õvUS® PõμoPøÍU 
ÂÁ›UPÄ®. 

13. Elaborate the various stages of product life cycle. 
 £shzvß ÁõÌUøPa _ÇØ]°ß £À÷ÁÖ 

{ø»PøÍ ÂÁ›UPÄ®. 

14. State how new Product developed in market? 
 \¢øu°À ¦v¯ u¯õ›¨¤ß ÁÍºa]ø¯ ÂÍUS. 

15. Discuss the importance of channel of Distribution. 
 Â{÷¯õP ÷\Ú¼ß •UQ¯zxÁzøu¨ £ØÔ 

ÂÁõvUPÄ®. 

16. List out the advantages of sales promotion. 
 ÂØ£øÚ ÷©®£õmiß |ßø©PøÍ £mi¯¼k[PÒ. 

17. Examine the various types of sales promotion. 
 £À÷ÁÖ ÁøP¯õÚ ÂØ£øÚ FUSÂ¨¦PøÍ 

Bμõ²[PÒ. 

——––––––––– 


